Potencias de 10 (H)

5,279+ 1072

8,17+ 1073

0,045+ 1073

4,653 +1072

9,065+ 1073

3,51+ 1073

8,725+ 1073

0,199 + 103

8,264+ 1073

6,023 =103

Calcule los siguientes cocientes.

3,296+ 1073

9,062+ 1073

9,411 +1073

8,881 =103

5,659~ 1073

2,806+ 1073

6,658~ 1073

1,94+ 1073

3,306 1073

5,71 +~1073
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Potencias de 10 (H) Respuestas

5,279 =103
5.279
8,17+1073
8.170
0,045+ 103
45
4,653+ 1073
4.653
9,065+ 103
9.065
3,51+1073
3.510
8,725+ 1073
8.725
0,199 =103
199
8,264+ 1073
8.264
6,023 =103
6.023

Calcule los siguientes cocientes.

3,296+ 1073
3.296
9,062+ 1073
9.062
9,411 +1073
9.411
8,881 =103
8.881
5,659 =103
5.659
2,806 1073
2.806
6,658 = 1073
6.658
1,94 1073
1.940
3,306 =103
3.306
5,71=1073
5.710
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